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Position which ; the individua]
occupies in the group by virtue of
his sex, age, family, class,
occupation, marriage and

achievement is called — )
(1) Society (2)  Social system

(3) Status (4) Role

The concept of “Key Status” is
given by .

(1) T.Parsons (2) E.T. Hiller

(3) R.K. Merton (4) K. Davis.
“History of Caste in India” book is

written by —

(1) Bottomore

(2) G.S. Ghurye
(3) S.V. Kelkar
(4) Herbert Risley

“Our direct concern as sociologists
is with social relationship. It is the
change in these which alone we
shall regard as social change.” As
quoted by —

(1) Gillin & Gillin :

(2) Maclver and Page -

(8) Robert Bierstedt

(4) Jones

Which one of the following is not the
characteristic of social change ?

(1) Speed of soeial change is not
& the same in every society.

Social change is natural and
mevitable,

(3)

(4)

Social change s universal.

Soc}al change is related with
individual, X

When is the Intey
Corruption dq
year ? '
(1) December 9 2
(8) October 9

!

national Anti-
y Qbserved every

November 9
(4) Septembey 9
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“The field of administration is a
field of business and it is removed
from the hurry and strife of
politics.” Who made this statement ?
(1) L.D. White

(2) Woodrow Wilson

(8) Henry Fayol

(4) Frank Goodnow

Santhanam Committee was

appointed for prevention of which
problem ?

(1) Poverty

(2) Corruption
(3) Casteism

(4) Communalism

Who gave the co ‘
of Poverty’ ? oo o “Cultiive

(1) Morris Ginsh
(2) Alex Inkleg o

the element following g
(1) ok:;la.c’f P‘"gsbarth o
(3) anskar ( ) Arth
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hat ‘A human problem

g atatod § .
Who state ¢ to a human solution

to be brough
requires huma

tools' ?
(1) Henry Fayol

(2) P.H. Appleby
(3) L.D. White
(4) Roethlisberger

n data and human

Which one of the following is the
correct sequence of Maslow’s Need
Hierarchy from the bottom of the
hierarchy upwards ?

A. Self-Actualization Needs

B. Biological/Physiological Needs
C. Love and Belongingness Needs
D. Self-Esteem Needs .
E. Safety Needs

(1) B-E-D-C-A (2) B-E-C-D-A
(3) A-D-C-E-B (4) A-B-C-D-E

Who among the following is NOT a
supporter of POSDCORB view of
Public Administration ?

(1) Lewis Meriam

(2) L. Urwick

(3) Luther Gulick

(4) Henry Fayol

Who wrote ‘The Science of Public
Administration : Three Problems’ ?
(1) F.W. Taylor

(2) Herbert Simon

(3) Dwight Waldo

(4) Robert Dahl

Which one of the scholars rejected
the principles of administration as
‘myths’ or ‘proverbs’ ?

(1) Marshall E. Dimock

(2) Herbert A. Simon

(3) Woodrow Wilson

(4) Chester I. Barnard
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Who propounded the expectancy
theory of motivation ?

(2) Rensis Likert
(8) Douglas Mcgregor
(4) Victor Vroom

When did the  Sarkaria
Commission submit its report ?

(1) 1988 (2) 1987

(3) 1984 (4) 1983

What is the title of 12t report of

the Second Administrative

Reforms Commission ?

(1) Ethics in Governance

(2) Citizen-Centric
Administration

(3) Crisis Management

(4) Right to Information

How many reports were presented
by the First Administrative
Reforms Commission ?

(1) Twenty (2) Seventeen
(3) Fifteen (4) Twelve

Which of the following
management systems is considered
to be the best by Rensis Likert ?

(1) Benevolent

(2) Consultative

(3) Participative group

(4) Exploitative Autocratic

Who among the following is not a
‘boss’ in the functional
foremanship technique ?

(1) Instruction Card Clerk

(2) Controller

(3) Disciplinarian

(4) Inspector

+ Which of the followings is the most

centralised type of formal

COmmunication network ?
Grapevine (2) Circle

(3) Chain (4) Star
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24,
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26.
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29,

When was the Lokpal Bill first
introduced in the Parliament ?

(1) 1971 (2) 1968

(3) 1966 (4) 1964

In which Section of the Right to
nformation Act, 2005, exemption
rom disclosure of information is

~ Prescribed ?
(1) Section 8(2) (2) Section 8(1)

Section 7(2) (4) Section 7(1)

What is meant by Prasthanatrayi ?
(1) Vedas, Upanishads, Brahmasutra

(2) Upanishads, Gita, Brahmasutra

(3) Upanishads, Gita, Brahmanas

(4) Vedas, Upanishads, Gita

According_ to the Upanishads, the
word ‘Tajjalan’ has been used for
Brahman’. Which means —

(1) Brahman is the cause of the

Creation, Existence and
Destruction of the world.
(2) Sun, Moon ete., are

illuminated by Brahman only.
(3) Brahman is real, omnipresent,

pure consciousness and infinite.
(4) Brahman is the supreme being.

Which of the following cannot be
investigated by the Lokayukta in

Rajasthan ?

(1) Disciplinary action
(2) Inaction

(3) Misuse of post

(4) Corruption

When was the Rajasthan dJan

chna Portal started ?
(Sﬁo 2021 (2) 2020
(3) 2019 (4) 2018

The Institution of On-xbudsman
was first created in 180:9 in—
(1) Netherlands (2) Finland
(3) Sweden (4) Norway
01
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37.

_according to the

Jain ".rri{atfzﬁlir%ight knowledge

Rl%hRight conduct L

o adwada, Nay

o giekantwad%\/lahavrat

3) Anuvrat, ¢

( Slﬁg‘;wh:;rla\/[ahaveer, Shraman

) End Shravak : :
¢ 'statement about Vedas :

'fm.Vedas

" Apaurusheya.

are Aanadi
Ghruti is “the most popular
5 word for Yedas.
The umvers::l
s is music. -
4 ¥ﬁga universal meaning of
" Vedas is knowledge.
Select the correct answer :
(1) 1, 3 and 4 are true.
(2) 2, 3 and 4 are true.
(3) 1,2 and 3 are true.
(4) 1, 2 and 4 are true.

and

and -

and

meaning of

‘1 think therefore I am’, 1is
associated with :
(1) Descartes (2) Kant

(3) Bentham (4) Socratgs
According to Socrates virtue is —

(1) Relative (2) Golden Mean
(3) One (4) Non-acquirable
Deontological ethics emphasises :

(1) renunciation (2) consequence
(3) duty (4) pleasure

Which of the following are related

‘Ashta t
Buddl_list philosophy ? ER BRID of
L. Right view 2. Right resolve
S ef:{tlgtht speech 4. Right faith
€ correct ing

:g;lelgi;en o :, :answer using fche_

4and 3 (2) 1, 3angd>
® L3ands. (g yo2ndd
vTv};:l grev_alence of suffering in the
philog 1S undeniable, ‘Which
& Gophy'supports thisidea ?
) Sandh.lan Philosophy
3) BOCart{c Philosophy
A Jl{ddhlst Philosophy

aln Philosophy .
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Qualitative differencg in pleasureg
is accepted by Hedonist :

1) Kant (2) Socratgs

(3) Bentham  (4) J.S. Mill

The most suitable concept of God

according to Gandhian Philosophy
is -

(1) God

(2) God is personal.

(3) Godis neutra],
(4) Truth is God,

The ethical principles of ‘Duty for
uty’s sake’ is associated with
Socrates (2) Mill
Kant (4) Descartes
What are the essential conditions
of freedom of will 2
1. Ability to act
owledge and purpose
3. The conduct of justice
Presence of alternatives
hoose the correct answer :
(1) 1,3and 4 (2) 1,2and 3
(3) 2,3and 4 (4) 1,2and 4
Kant’s rigorism supports —
(1) Ethics of compassion
(2) Ethics of pleasure

(3) Greatest good of the greatest
number

(4) Ought implies can

ocrates is not a skeptic begause -

(1) The empiricist philosophy
begins with his philosophy.

(2) Doubt is the means to reach
the doubtless truth.

(3) He firmly believes in God. |

(4) His philosophy ends in doubt.

18 irrelevant.

. Not included in Vedie Rinatrayi’ is —

(1) RishiRina (2) Pitra Rina

(8) Lok Rina (4) Dev Rina
. Eye for an eye and tooth for a

tooth is supported by :

(1) No theory of punishment

(2) Reformative theory of
punishment

(3) Retributive theory of
punishment

(4) Deterrent theory of
punishment
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following Major Rock

oka emphasised on
ti, Bahushrutfa a.nd

vacmgua which is a manlfefstaglon

San?vzligious tolerance policy ?

°f)m§m Rock Edict

g) XII Rock E@lct

(3) 111 Rock Edict

@) 1 Rock Edict

ich of the
‘ggzct of Ash

i the following Jataka is
:‘cr;}tnzhg:ived on the gateways and
pillar of Sanchi Stupa ?

(1) Vessantar Jatak
(2) Sam Jata!;
(38) Mahakapi Jatak

(4) Mahajanak Jatak

Who among the following composed
the play ‘Devichandraguptam’ ?

(1) Shudraka

(2) Vishakhadatta

(3) Kalidas

(4) Kamandaka

In which of the following states the
Indus Valley Civilization site “J uni
Kuran” is located ?

(1) Punjab

(2) Uttar Pradesh

(3) Maharashtra

(4) Gujarat

Ninth manda)a
Eighth mandala
hird mandala
St mandala

ravrajya

Pasampad, 4) Patimokkha
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52. Who among the followin
the book “Y%pg India” ?
(1) Jawaharlal Nehru
(2) Subhash_’\(}‘handra Bose
(3) Lala Lajpat Rai
(4) Bal Gangiadhar Tilak

€ Wrotg

53. At which of the following place the
Congress Working Committe
approved the resolution relateq ¢,
withdrawallof the Non-Cooperatiop
Movement 7~

(1) Nagpur”  (2) Champaran
(3) Gorakhp}}fr (4) Bardoli

54. When was the Hindustan Socialist
Republican ASsociation establishegd ?
(1) 1936 (2) 1932
(3) 1928 (4) 1926

55. Where did Subhash Chandra Bose
establish N)the Provisional
government ~df free India on 9]
October, 1948y
(1) Germany™

5 i (2) Singapore
3 alaya

(4) Japan

| 6. Who among the following was the

Guru of Padmavati and Surseer ?
' (1) Ramanand
m&) Vallabhacharya

(3) Kabir 3

(4) Dadu E}

57. Which of tB following Mughal
emperor staxted the Altamgha
Jagir ?

(1) Aurangzeb

(2) Shahjahan
(3) Jahangir

(4) Akbar

- 58.. Which of the following fort was

renamed by Shivaji as “Singhgarh” ?
(1) Kondana  (2) Shivner
(8) Jawali (4) Toran
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60.

61.

01

frafafes =1 wemraEr =eRE
Hferd :

A, Fvétars i T

B. dehitel Hl T8

C. _ ArdhersA 1 wigd

D. |rierm € @2
R

60. Arrange

i ist-11 and
] with List ‘

59. M2" ihe ::rrect answer using the
elect 0 below &
cad? P | List-

L‘?(t:-ongress) (President)
;onotta Gegsion 1. P. Anand
; Cal;g) Charlu
(18 g
on ii. W.C.
P N?;g}i;“ e Bannerjee
,Exlllahabad 1ii. Dadab.l}ai
S ssston (1652} Naoroji
D. Lahore Session iv. Pherozeshah
| (1893) Mehta
Codes:
AB € D
() i 1 1 iv
(2) v i1 1 m
@ ii i v 1

(4) iv. 1 i i

the following in
chronological order :

A. Battle of Brandywine

B. Battle of Bunker Hill

C. Battle of Yorktown

D. Battle of Saratoga

(1) B,D,A,C
3 D,C,A B

2 B,AD,C
(4) A C,B,D

wia it il 6 Frefies wens

Hryon
?S'A,B,C,D W%%%'g—
B, GB, WWaens
3 AD Gy

Codes :
(1) B,D,A,C (2) B,A, D, C
3) D,C,A B (4) A,C,B,D

61. Arrange the following events of

French Revolution in ch ]
i chronological

|

|

|

l A. The opening of the Estates-
l . General Session

| - Fall of Bastille

|

l

|

|

3 Denilis Court Qath, -
© eclaration of the rights of
an and of iti 4
Coles of the Citizen
SARER greas
. » C; (4) A C, B,D
@)
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(1) 5:30 sE A2 ©

00
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#
63. uma%ﬁqﬁﬁmﬁamﬁa'

2011 ¥ gty R o 7
(1) TR MQ)/EW !
©®) T (4) I

64. el e fo e T

ST gt 3 oft 7
12004 (2) 2005
(3) 2001 (4) 2002

65. Fer i fore w1 e AT 1 TS

Rearem o

(1) F=h

(2) =iferm
—~3y &=

(4) Sfe=a Rich

66. =1 § ¥ 9w B w<ew ¥ v

el ol gmEEty et geEer
FIHR el 2fua of ?

(1) dara

(2) aREr

(3) afern

(4) qHIH

67. =14 @ o T 5 S oy

g ferdt ot 7
J'{) .21 "rEaE
(2) was Syl
(3) IHI. AN
(4) THTT, BT

62.

63.

64.

- 65.

| 66.

67.

Difference between Greeny;,
Thimpu is 90°. Time at Greey, “‘;*_nq
is 12:00 noon. What will be the t‘leh
at Thimpu during same perioq ) iy,
(1) 5:30 p.m. (2) 6:00 P,
(3) 5:30 a.m. (4) 6:00 .

ong the following which gjg..
c‘:\meajisthan had highest sex-r:ticz
in 2011 7
(1) Ganganagar (2) Dausa
(8) Churu (4) Alwar

In which year the TNotorigyg
Tsunami occurred in Indian Oceap

in present century ?

(1) 2004 (2) 2005

(3) 2001 (4) 2002

Who among the following
organised the “Red Army” i
Russia ?

(1) Trotsky

(2) Stalin

(8) Lenin

(4) Feliks Dzerzhinsky

Which of the following was the
longest  parallel government
established during Quit India
Movement ?

(1) Satara
(2) Bardoli
(3) Ballia

(4) Tamluk

Who among the following wrote
the book named “Eighteen Fifty
Seven” ?

(1) V.D. Savarkar
(2) S.B. Chaudhuri
(3) R.C. Majumdar
(4) S.N. Sen
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68, 37&!’3,7;7
ey
(1) %ﬁmﬂﬁamﬂt
/(‘srmﬁgaif
4) ey
0% R ity vt o
) SROE (9 s 3
©) weoht & (4) Ty
70. mwuga&aﬁé%aﬂrmwaa
HE T R
(1) X e (2) SR
(3) Wy (4)
71. ﬁwﬁ—r@aﬁéﬁqmmm‘é?
e ~ e a A
'“/(D'aréaam e ¥ o
A &
~ U qY1 g
& oo GHHv &
- Trreft yoddt @
FL AvTA &
e HeHA &
(4) HHEE - ﬁmawﬁ‘f“
gl & e H 8

¢8. M

69.

70.

71.

(3) photons
' Whick of .th,,e following is an
HCORLBLE PEUE sition
(1) Gutenberg - g:g between
Disconnuty outer and
inner core.
9) Repiti - Transition
; )Discontinmty g’:;ﬂebetw:gl&
core.
(3) Mohorovicic — Transition .
Discontinuity zone between
lower crust
and upper
mantle.
(4) Conard — Transition
Discontinuity zone between
Sial and Sima.
+ Who propounded the contraction
theo;y related to origin  of
continents and oceans ?
(1) Jaffrey
. (2) Jolly
(3) Daly
(4) Lothian Green
+ Manchestey of South India js -

phenomena

(2) Japan

’('I;'E.alifornia (4) Canada

(3) Italy .

dark spots
e cold and are call
(2) Corona
(4) Faculae

in the
g:owsphere zns

(1) Sunspots

e S—

(1) Chennaj

(2) Coimb
3) Madurai atore

(4) Bengalum

O



(4) Li )
) Linear position of Sun and
Moon

7 LA . i 3 FH %ﬂ 74. Whic.:h of the following soilg Cove,
: . .om 1 19 ?
aaﬁ';ﬁ“%m'mw“% ;o aximum area in India ?
(1)| ™ 5 (1) Alluvial
@ - | S
| (3) Laterite
@ ‘{(:5:. - L (4) Arid and desert
75. S 5 3 ol of st o0 | 75, Which of ‘the fOllowing oceq,
1 g e & et o v AR ? SiGrE ety st Ph
(1) m- e e E —m . (1) g;izaill‘; Falkland — Labl‘ador\
(2) ¥ — Sfier — FiRevE — CHISR (2) Eagarg — Brazil — Falklang
@3 . _ o abrador
) éf”?ﬂ 3T — AToltet — HIHETS (3) Labrador — Canary — Brazil .
(4) FimAvE — FTie — FATH — B Falkland
@ e " < (4) fa{)klaéld — Brazil — Canary -
. YaTd R % g S FR abrador
AR ? 76. Which of the following statem
@ 2 S P & is correct with respect to f}?;
q;;l';a; 3;' At : : development of Coral Polyps ?
; I o " (1) T.}xgy prefer  more  sea
(2) A v fd s @ gE W disturbances.
; ; (2) E.};:i Wf:ct):rish in non-saline
(3) i aese Hit AEvgH ;
- Bt (3) 'Sl‘:idel)x'n trequire more  of
ents. .
(4) 2 20° — 30° . mﬁm% | (4) They flourish in 20° — 30°C
: t
] ‘gh - ’ ’ emperatures.
w2 7 | 77 What does the term ‘Syzygy’ refer
(1) o, gt a1 IS w5 ' ‘\‘@‘M | (1) Linear posi
position of Sun, Earth
@ o, e 7 S H (@ i
: gefl iy | : ) Perpendicular position of Sun,
geAt } i
(3) T TP W W Ry (8) Lineap e
posit
} Mase ion of Earth and
|

(4) @wmwmmﬁm

O 14 ,
01



78.

11992 ¥
T S s
(a) S T i a8

(b) e = =30 W@ |
Wmﬁ:ﬁmmm?ﬂ

(c)
o T sty

(d)

2

(4) (ﬁ) a7 (b)

79. W@ #i Prafafea sRE 5 s

S S
mmeﬁg‘m‘I‘;‘?%ma
=11

R
: I T
() S@a y > it
(i) T _/,((g) mwv:;@
(i) ¥/ (c) T
Gv), dn d) =t
o

@ G, @) Gv)

(d (@ ®) ()

P/((’;)(‘(C) (a) (@) (b)

© (@ (a ()
b) (@ @ (©

3
(4)

80. YRA H ®F & a§ # Fia (F@m)

5

01

D

srferfrem sy g3 ?

(1) 1973 (2) 2004
BY 1972 (4) 1976

aR ) o 2011 % ugan afdfa
?*‘W afer
(a) Trftsm |
(b) surTEd Yol
(c) TS
(d) fosic_

(b) (d)
3 @ ®

() (=) [ 1) (a) .
E:;_ (z) @ (@) (@ ©

[y
w

— ——
— ——— — ittt

The
780 PI'Oject

(0 vchGQS

Fund)

(a)
(b)
(©
(d)

. M °
0 with themr P

" gelect the correct answ
code given below :

®©
o

oo
faiy

(i) Betwa

\(iv) Son

(8) 1972

. f ‘Aravalli Afforestation
aim O tiated 0.E.C.F.
Economic Cooperation
n the year 1992 was :

ni
Ui of forests in

Restoration

ravallis. .
A source conservation

ater resol C
1‘;‘; constructing amcu?s.
Control land erosion

legal mining.
guioints mentioned above.

(2) (a) and (c)
fé; Egg and ) (4) (a) and (b)

atch the gi

and

ven rivers of India

lace of origin and
er using the

List-II
Place of Origin
(a) Nandidurg hills
(b) Amarkantak

(c) Bhopal

List-I
Rivers

(ii) Godavari
(iii) Pennar/

Pinakini
(d) Trayambak

village
Codes :

(1)
(1) (d)
(2)

(c)
3 (© (d)
(4)

®) (a)
In

which year the Wildlife
(Protection) Act in India came into

force ?
(1) 1973 (2) 2004
(4) 1976

(i) (i) (iv)
(a) () (c)
(a)

+ According to Census of India 2011
~ arrange the states density-wise in

ascending order :
(a) ‘Sikkim
() Arunachal Pradesh
(¢) Nagaland
Ed)_ Mizoram
1) () @) (a) (©) (2)
(c) (d) (b) (a)
©) @ ®) (a) (©) (4) (b) (a) (c) (d)

O
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85.

86.

(1) I # qRE
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(2) 3nim # afEs, /
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AY
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vt 3 aftoms =) = a1 91T &
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@) Fame ) wwes
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| 82.

83.

84.

85.

The Marginal Propensit,
Consume is equal to :
(1) Change In consumptj,, ’

, oo (AG
——_—
(2) Change in consumptjo, l

Change in income E)

(3) TOta.l consumption / Total m%

(cn)
(4) Total saving/ Total consumptj,
(S/C) .
If the income elasticity of .demap,
is greater than 1 and positive, the,
commodity s —
(1) a Giffen good
(2) an inferior good
(3) a luxury good
(4) a necessity good

A fall in the price of a commodity,
holding everything else constan,
results in and is referred to as:

(1) a decrease in the quantity

demanded. _
(2) an extension in the quantity
demanded.
(3) a decrease in demand.
(4) - an increase in demand.

Sarwar and Rajmahal mining
areas are famous for :

(1) Magnesite (2) Garnet

(3) Calcite (4) Emerald

. Which of the following mountait

peak is not related to Northern
Aravalli region ?

(1) Bilali (2) Nagpahar

- (3) Sirawas .' (4) Bairath
. The Net National Product (NNP

at factor cost is also known as
(1) Private Income

(2) Gross National Product
(8) National Income

(4) Personql Income
i)}



88. P 3 fy =
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(1) oo mey Lt
(2) =R ey
(3) meam
(4) =ges

89. : T

2,6,6,8,4,2,7 9

(16 © 4
(8) 7 (4) 2

90. ﬁnﬁﬁﬁamﬁmf@'ﬁmm
AT B R 7
(1) ®eqss areq
(2)
(3) "
(4) HHT=T {915y

91 = % & ¥ & wron & off 7w W
ferercige Bt 2 7 |

"(2) T d

(4) e H Ha

92. M T T H Hw F a7 F
Teq i ] R A R
1) (2) A

93, T I e § FeR 3 S I
v

01

m%la; P
oz Y o A
e Y@ 35 o A A
21 & FUa

()

3)
(4) TR F

[
~

88. From whicheum of

92.

©
™

fo]_]oWing

e x
of deviations 0

th /’ﬁfo"r
averag® . —cruations
-iigvidual 0DSeT S
C ‘n°°me f:meean
(2) Arithmetic ™

(3) Median

e §
(4) Mod from the given get

ian
89. Find the medlae. 684279

of numbers . 2.

(1) 6 (2) 4
8) 7 4) 2
1 age,
:oh of the following aver
" g‘xlew;ll'(e:ct of extreme value is the
least ? .
(1) Harmonic mean
(2) Mode

(3) Geometric mean
(4) Arithmetic mean

91. Which of the following does not

_cause a shift of supply curve of a
good ?
1) Technology
(2) Goods and Service Tax
(8) Price of the good supplied

(4) Price of input

If the amount of both commodities
(x and y) increase or decrease
when the price of one changes, the
cross elasticity of demand between
them is ;
(1) one

: (2) zero
(3) positive

(4) negative

At equilibrium, the

in erenbce curve is — . e
may be larger or small

i the slope of budget line.er e
smaller thap the slope of
budget Jine, i

@) greater ¢

budget line,an the slope of

4) e
h(xl:;a] to the slope. of budget

O

,
\/\,



97. T Wi stk g1 =73 ¥ ey s Y
ST
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“(2) TS Ty
(8) ==z "rer

(4) i e

98. ﬁnﬁéﬁs@ﬁaﬂm%mﬁm
TR ?

M, @) M,

3) M, @) M,

99. = AYA Hiwdl 4 918 % Fwo Foai
gfig it 2 a1 38 FE1 I}
(1) raehifa (fewtvm)
(2) &
3) @mTa dfta $iHa whify

94.

95.

96.

97.

PR

9

Www.gagron.in

' (3) Bl

98.
9.

i llowing measure ig
gnh;;h %tl.iﬁh:ef:cfi'\:;é credit CQntrol
methdds of RBI'? - BT
(1) Cagh Reserve Rat.lo.

(2) Opén market opera_.tlons |
rate

(4) Ctédit ceiling .

The concept of ‘Vicious Circle of
Poverty’ is related to -

(1) N&ﬂthus

(2) Adém Smith

(3) Ncu’gkse

(4) K&A Marx

Whichqgne of the following is not a
component of the multi-
dimensional poverty index ?

(1) Standard of living

(2) PeryCapita Income

(3) ggu%cation '

(4) Health .

The %ﬂferenee between = total

receipts and total expenditure is
known as :

(1) Revenue deficit
(2) Fiscal deficit
(3) Budget deficit
(4) Capital deficit

- D ! '
Whichyof the following is known as
broad mbney ? B o

(1) M
(3) M§o

When price
increase in fac
(1) Deflation
(2) Depression

(3) Cost push inflation

(4) Demang pull inflatioy

@ M,
@) M,

L«
ey

.
L

increases’ due o
tor prices it ig called :

m
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100.

101.

102,

103.

cholar recommended  the

Which 8 . :
tical distortions on

study of poli
Dsychological pasis ?

(1) Arthur Bentley

(2) Charles . Merriam
(3) Walter Lippmann

(4) Harold Lasswell

Which of the following indicator is
not used o0 calculate Human

Development Index ?

(1) Mean years of schooling

(2) Gross national income per
capita

(3) Infant mortality rate.

(4) Life Expectancy at birth

Which of the following state
remained on top in the Sustainable
Development Goals (SDG) India
Index 2021 released by NITI
Aayog ?

(1) Gujarat

(2) Himachal Pradesh

of

(3) Haryana

(4) Kerala

Who among the following is not

part of the Governing Council of

NITI Aayog 7

(1) Lieutenant  Governor
Andaman & Nicobar Island

(2) Governors of states
(8) Chief Minister of Delhi
(4) Chief Ministers of all states

O
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104.

105.

cade of the ;

Ty B8 9 def rst decade of tiu.
century and the f1 ol
twentieth ~ century, lr'a 1tion,
political science disclaims the
institutional and legalist traditio,
and adopts a new approach ¢,
socio-political life.”

Which of the following 1s wrong
with respect to the above
statement ? b .
(1) The scholars of politics wil]
have to follow a new path
because political theory hasg
come in contact with such
forces that in course of time
they  will fundamentally
modify its nature.

The researcher will have to
study the formal structure and

constitutional machinery of
the state.

Political scholars to discover
the real or actual power
behind legal, constitutional
and institutional authority.

(4) Society and societal groups as

a process.

Who said, “Politics envelops us Jike
the coils of a snake and there is no
other way out but to wrestle with
it” ?

(1) Jawaharlal Nehru

(2) Mahatma Gandhj

(3) Karl Marx

(4) Plato

(2)

3)

. Who described Political Science as

“the study of the authoritative
allocation of values for the society” ?
(1) Ernest Barker

(2) David Easton

(3) Robert Dahl

(4) E.M. Foster

01
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“All  human

107, The gtatement -

beings arc born frec and equal in

dignity and rights.”, i8 given in :

(1) Social Contract by Rousseau

(2) Universal Declaration
Human Rights

(3) SAARC declaration

(4) Leviathan by Hobbes

Which thinker can be considered

as the messenger of the advent of

the modern state and envisioned

the role of the League of Nations ?

(1) Dante

(2) Marsilius of Padua

(3) John of Paris

(4) William of Occam

of

108.

“Power is & Deference-Value and
Political Science is closely related
to it.” Which scholar has given this
view ?

(1) Charles E. Merriam

(2) David Easton

(3) Lord Acton

(4) Harold Lasswell

109.

110. Assertion (A) : For a meaningful
exercise of the authority of the
state, the laws and orders of
the state must be based on the
moral beliefs and value system
of the people.

Reason (R) : For_this, the state
must ensure the compliance of
the laws by its citizens.

(1) (A)is false but (R) is true.

(2) (A)is true but (R) is false.

(3) Both (A) and (R) are
individually true but (R) is not
the correct explanation of (A).

(4) Both (A) and (R) are individually
true and (R) is the correct
explanation of (A).

O
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111.

112,

113.

114.

Www.gagron.in

of Lok Sabha.

The number . s 5
constituencies i8 543 in India since -
(1) 1971 (2) 1969
(3) 1967 (4) 1962

According to Article 51 A(a) of the
Constitution of India, it i8 the duty
of every citizen —

(1) to creatively

Constitution.
(2) to abide by the Constitution.

(3) to positively support
Constitutional amendments.

(4) to promote international peace
and security.

Who among the following
commentator said that “Indians
did not default their tryst with
destiny” while making their
constitution ?

(1) K.T. Shah

(2) C. Rajagopalachari

(3) Minor Winner

(4) Granville Austin

Select the correct option to fill in
the blank in the
constitutional format
Presidential Oath.

“I, AB. do swear in the name of
God/solemnly affirm that ] will
execute the office of
President.”

(1) faithfully

(2) sincerely

(3) with full qualification

(4) 'with full sincerety

criticise the

following
of the

01
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116, ‘“The fundamental rights of Article

116.

ey
[y
~1

. Who presente

(1) Bhairon Sin

20 and Article 21 cannot be

Buspended in emergency.’ Which of
the following 18 true with respect to
the above provision ?

(1) This provision was inserted by

44th constitutional amendment.

(2) This provision Was inserted by
42 constitutional amendment.

(3) This provision was inserted by
tutional amendment.

24th consti
This provision is there from

the very beginning of the
; Constitution.

Which statement explains the
es of State Policy

Directive Principl

mentioned in the Indian
Cbnstitution ?

(1) Mandatory poli

government.

(2) Those objectives that we
should necessarily adopt as
individuals.

(3) Certain righ
should enjoy apart
Fundamental Rights.

(4) Those goals that we as
individuals should adopt.

d the first ‘Gender

(4)

cies for the

ts that citizens
from the

Budget’ in Rajasthan ?

gh Shekhawat
(2) Pradhyuman Singh

(3) Ashok Gehlot

(4) Vasundhara Raje
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.3
118. In which year the numbel; f?f n&N

permanent members 2 ksl
Security Council was 11

from 6 to 10 ?
(1) 1972 (2 @5
3) 1960 (4) 1852

“Phe state shall endeavour to

promote internationai\lpeace and

security” as specified in Article 51

of the Constitution of India.

Match List-I with List-II with this

reference.

List-I Lis"?;.'

A. 51(a) (i) foster tespect

_ international law and
treaty oﬁggations in
the dealings of
organised peoples

119.

with one another.
B. 51(b) (i) maintainesjust
honouratflg relations
between gxgtions.
~ C. 51(c) (iii) promote Hiternational
peace and security.

D. 51(d) (iv) encourage settlement
of international
disputes b&arbitration.

=
A B 6 Do
O 6@ 6 G
@ Gv) i) ) ()€
(3) (i) () () (iv)
@ 6 @ Gv) )

and

01
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120, What do we call ‘the web of social
relations’ 7 .
(1) Association (2) Society
(3) Institution (4 Community

Read the following statements

carefully :
I. 1.eTuheyG-ZO Leaders’ Summit is

scheduled to be held on 9 and
10 September,

Delhi.
assume the

II. Indi will
: g:'elsaidency of the G-20 from 1

December, 2022. .
G-20 comprises 19 countries

and the European Union (EU).
G-20 accounts for 85% of
global GDP 75%  of
international trade and two-
thirds of the world population.
Which of the following option 1s
correct ?
(1) Statements 1I and IV are true.
(2) Statements I and III are true.
(3) Statements I, I1, 11 and IV are
true.
(4) Statements I, II and IIT are
true.

121,

1.
IV.

Brettonwoods Conference — 1944

led to the establishment of which

financial institutions ?

(1) International Monetary Fund
and G-7.

(2) International Monetary Fund
and Asian Development Bank.

122.

(3) International Bank for
Reconstruction and
Development and _ Asian
Development Bank.

(4) International Bank for
Reconstruction and
Development ~and

International Monetary Fund.

. Who divided sociology in social
statics and social dynamics ?

(1) Maclver (2) Bottomore
(3) Johnson (4) Comte

O
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(3) Ty

125.

126.

127,

(1) G.A. Lundberg
(2) Kimball Young
(3) Ralph Linton

(4) Elliott and Merril]

“A Broup defined by g sex
relationship sufficiently precise

and enduring to provide for the
procreation and upbringing of
children” is called —

(1) Institution (2) Family
(3) Community (4) Association

In which form of Hindu marriage
neither consent of parents
necessary nor are the rites ?

(1) Dev Marriage

(2) Gandharva Marriage

(3) Prajapataya Marriage

(4) Brahma Marriage

Which one of the following is not
the challenge for the national
integration ?

(1) Regionalism

(2) Communalism

(3) Urbanism

(4) Casteism

is

. ‘What is Sociology’ book is written

by -
(1) T. Parsons

(2) Alex Inkles
(3) P. Sorokin

(4) Max Weber

- Who mentioned the Gemeinschaft

and Gesselschaft are two types of

society ?
(1) Karl Marx (2) Weber
(4) Tonnies

(3) Durkheim

. Who used the concept of primary

group in his
rganization” ?

(1) Giddings

(2) Sumner

(8) W. Ogburn

(4) Charles Cooley

book  “Social

01



131,

132,

133.

Which of the following is not the
characteristics of Unit Plan ?
(1) In unit~ plan principle of

“Synthesis to  Analysis”
followed-

(2) In unit plan principle of “Part
to Whole” followed.

(3) In unit plan, the content of
Jessons arranged in totality.

(4) In anit plan objectives are
prepared on basis of totality.

Unit plan 18 pased on which of the

psychology ?

(1) General Psychology

(2) Counselling Psychology

Who stated that “The curriculum
is the tool in the hands of the
artist (the teacher) to mould his
material (the pupil) according to
his ideal (objective) in his studio
(the school) ?

(1) Benjamin Franklin

(2 Thorndike

(3) P. Samuel

(4) Cunningham

. Who was the Chairman of Position

paper of National focus group for
Social Science teaching related to
NCF 2005 ?

(1) Prof. Krishna Kumar

(2) Prof.d.S. Rajput

(3) Prof. Gopal Guru

(4) Prof. Yashpal

_Which of the following is not the

steps of Herbertian Approach of
Jesson planning ?

(1) Exploration-

(2) Generalisation !

(3) Comparison and Association —
(4) Presentation ——

o
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136.

137.

138.

139.

Elements eggoy:
A Sentig) .
blue print of achieveﬁ){ DPreparing

given below ; ~———ont test arg

A, Weightage to objectives

B. Weightage tg content '

g.' g:;::z:ge to t).'pe of Question
. ge to difficulty Jeye —

Se}ect the best suitable o;;tion"b

using above mentioned elementg :y

(1) ‘A,B,‘C&D essential

(2) Only ‘B’ & ‘D’ essential

(3) Only ‘B’ & ‘C’ essential

(4) Only ‘A’ & ‘B’ essential

A process of gathering and
interpreting evidence on changes
in. the behaviour of students in
school is known as -

(1) Direction
(2) Controlling
(3) Examination
(4) Evaluation

Which of the following is not the

advantage of objective test ?

(1) Minimum use of language

(2) Approximation possible
selecting answer

(3) Administration easy

(4) Objectivity of scoring

in

Which of the following is not the

characteristics of essay type test ?

(1) Objectivity in  evaluation
possible.

(2) Useful for knowing creative
thoughts of the students.

(3) Useful for knowing expression
skill of the studen.ts. s

1 for knowing lan
% g;(lfu & writing skill of

S
student -
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140,

141.

142,

l?orrelation between
ranches of Soci :

known as - = _S_cfen
(1) Curvilinear correlation
(2) Uni-lateral correlatjop
(8) Multilateral correlatiop
(4) Co-lateral correlation

Who stated that “The go,
sciences are concerned with man
and his interaction with his soeig]
and physical environment, they
deal with human relationships” ?

(1) Bining and Bining
(2) M.P. Moffat

(3) Wesley
(4) Juhn, V. Michaelis -

Which of the following is the
behavioural term of
‘understanding’ objective in social
science teaching ?

(1) Deciding the components

(2) To recall

(3) To identify

(4) To differentiate

A social science teacher teaches 1n

the classroom about lives of great
painters, sculptors, musicians et
during explanation aesthetic sense
may develop in the child. This tyPe

of correlation occurre
which two subjects ?
(1) Social Science &
(2) Social Science and ;
(3) Social Science and Mat‘hematlcs
(4) Social Science and Science

y
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144. Steps of completing the project in
jumbled order are given below :

Planning of the project

Choosing the project

Providing a situation

Judging the project

. Executing the project

Which of the following option has

logical order regarding

Mmoo

correct

steps of project ?

(1) C—->§—>A—>E—>D

@2 E-5B->C-o>D—A

B3 BoC—->D->E—=A

4 A-B->C—->D->E

Which of the following option

shows correct logical order of steps

followed in “socialized recitation

method” ?

(1) Planning — Conducting
Reporting — Evaluating

(2) Planning — Reporting
Conducting — Evaluating

(3) Planning — Conducting
Evaluating — Reporting

(4) Conducting — Reporting
Planning — Evaluating

145.

JEL'S

Which of the following is limitation

of field trip ?

(1) Interest & Curiosity

(2) Aesthetic sense

(3) Useful for some selected topics
of Social Science

(4) Real experiences

146.

01
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148.

149.

150.

Below are given some avalie

social science teacher ; 188 of 5

A. An expert in meth odology
teaching social science,

B, Well-equipped in
; a .
qualification, cademic

C. Well-equipped i
qualities. " human
Which of the following given option
best represents above gtated
qualities ?
1) ‘A,‘B&C
(2) Only ‘B’
(8) Only ‘A’ & ‘C’
(4) Only ‘A’
Which of the following is kind of
visual aids ?
(1) Motion pictures
(2) Tape recordings
(8) Film strips
4) Television

of

Which of the following elements of
Edgar Dale’s cone of experience is
most effective for learning ?

(1) Real Direct Experience

(2) Demonstration

(8) Motion Pictures

(4) Radio Recording

A chart which represents the
growth and development of an
empire, a dynasty and historical
facts of this nature is called :

(1) Tabulation charts

(2) Flow charts

(8) Genealogy charts

(4) Classification charts

O
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